
BC-08

December - Examination 2018

B. Com. Pt. II Examination

Cost Accounting
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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 2 = 20
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 What do you mean by cost unit?

		  bmJV BH$mB© go Amn ³¶m g‘PVo h¢?
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	 (ii)	 What is sunk cost?

		  Sy>~r hþB© bmJV ³¶m h¡?

	 (iii)	 Define prime cost.

		  ‘yb bmJV H$m AW© ~VmBE&

	 (iv)	 Give two illustration of fixed factory overhead.

		  ñWm¶r ’¡$³Q´>r Cn[aì¶¶ Ho$ Xmo CXmhaU {b{IE&

	 (v)	 Write the formula for calculating bonus under Roban plan.

		  amo~Z ¶moOZm Ho$ AÝVJ©V ~moZg kmV H$aZo H$m gyÌ {b{IE&

	 (vi)	 Give four examples of Indirect labour.

		  AàË¶j l‘ Ho$ Mma CXmhaU Xr{OE&

	 (vii)	What do you mean by Commercial Ton Km?

		  dm{UpÁ¶H$ Q>Z {H$bmo‘rQ>a go ³¶m g‘PVo h¢?

	 (viii)	Give two examples, where batch costing can be used.

		  g‘yh bmJV {d{Y Ohm± bmJy hmoVr h¡ CgHo$ Xmo CXmhaU Xr{OE&

	 (ix)	 What is the meaning of standard cost?

		  à‘mn bmJV H$m AW© {b{IE&

	 (x)	 Explain semi variable overhead.

		  AÕ© n[adV©Zerb Cn[aì¶¶ H$mo g‘PmB¶o&
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	 Section - B	 4 × 10 = 40
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 10 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&

2)	 Under process costing explain treatment of Normal loss and 
Abnormal loss.

	 à{H«$¶m bmJV {d{Y ‘|, gm‘Ý¶ d Agm‘mÝ¶ hm{Z Ho$ ì¶dhma H$mo g‘PmBE&

3)	 How profit is calculated for incompleted contracts?
	 AnyU© R>oH$m| Ho$ bm^ H$s JUZm H¡$go H$s OmVr h¡?

4)	 Give a specimen of cost sheet.
	 bmJV nÌ H$m Z‘yZm Xr{O¶o&

5)	 Discuss the treatment of Idle time in cost accounts also give 
reasons of normal idle time.

	 H$m¶©hrZ g‘¶ H$m bmJV boIm| ‘| ì¶dhma g‘PmB¶o VWm gm‘mÝ¶ H$m¶© 
hrZ g‘¶ Ho$ H$maU ~VmB¶o&

6)	 Explain with illustration ‘‘Apportionment of overheads’’.
	 ""Cn[aì¶¶m| H$m AZw^mOZ'' H$mo CXmhaU g{hV g‘PmB¶o&

7)	 Explain the steps for preparing reconciliation statement.
	 g‘mYmZ {ddaU ~ZmZo Ho$ {bE H$m¡Zgo-H$m¡Zgo H$X‘ CR>m¶o OmVo h¢& 

g‘PmB¶o&

8)	 What are control accounts? Explain their utility?
	 {Z¶§ÌU ImVo ³¶m h¢? CZH$s Cn¶mo{JVm ~VmB¶o&

9)	 Explain ABC system of material control.
	 gm‘J«r {Z¶§ÌU H$s E ~r gr {d{Y g‘PmB¶o&
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	 Section - C	 2 × 20 = 40
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
20 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 20 A§H$m| H$m h¡& 

10)	 Explain briefly the various methods of apportionment of joint 
costs with illustration.

	 g§¶w³V bmJVmo§ Ho$ AZw^mOZ H$s {d{^ÝZ {d{Y¶m| H$mo g§jon ‘| CXmhaU 
g{hV g‘PmBE&

11)	 Discuss the methods of absorption of factory overheads.
	 ’¡$³Q´>r Cn[aì¶¶m| Ho$ AdemofU H$s {d{^Þ {d{Y¶m| H$mo g‘PmB¶o&

12)	 Calculate P/V ratio, break even point in `, sales at a profit 
of ` 6000, profit at a sales of ` 1,00,000 from the following 
information. Selling price per unit ` 20, variable cost per unit 
` 10, fixed cost ` 20,000.

	 {ZåZm§{H$V gyMZmAm| go bm^ - ‘mÌm AZwnmV, Z bm^ Z hm{Z H$m {~ÝXþ 
ê$. ‘|, ` 6000 Ho$ bm^ Xa {dH«$¶, 1,00,000 `  Ho$ {dH«$¶ na bm^… 

	 {dH«$¶ ‘yë¶ à{V BH$mB© ` 20, n[adV©Zerb bmJV ` 10, ñWm¶r bmJV 
` 20000& JUZm H$s{OE&

13)	 Calculate Labour variances from the following:
	 Standard rate per hr ` 10, standard hours 50,000, Actual rate 

per hour ` 9, Actual hours 49,500.
	 {ZåZm§{H$V go l‘ {dMaUm| H$s JUZm H$s{OE&
	 à‘m{UV Xa à{V K§Q>m 10`, à‘m{UV K§Q>o 50,000, dmñV{dH$ Xa à{V 

K§Q>m 9`, dmñV{dH$ K§Q>o 49,500.


